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1. Graph the inequality y < 3 x+ 1. Use substitution to determine whether each given point is part of

the solution to this inequality. f ’Sfx(\ g
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Tell whether the ordered pair is a solution of the given inequality.
2. (-1,-4) y =2x-1 _ 3. (-6,2) y<—x-4 4. (4,-8) y < %x+ 5
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Write an inequality for each graph. -'
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Graph each mequall’ry on the coordinate plane.
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Write an inequality. Graph the inequality, scale and label the axes.

14. Eric loves peanut butter and jelly, sometimes together and sometitmes separate. Peanut butter
hqs@O’c\amgl, and grape_jelly ha@i—s—;@ How_many servings of

each can Eric have if he keeps his total calorie intake from ‘rhess two food

de/1000 calories?
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15, State 3 possible solutions for the scenario. b
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Are they reasonable? £
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